(1101 MC)
B.BM. DEGREE EXAMINATION, MARCH 2012.
(Re‘gular)
(Examination at the end of First Year)

Part I — ENGLISH — I (GENERAL ENGLISH)

Time ;: Three hours

SECTION A

1.  Answer any FIVE out of Eight questions in about 25 words :

(a)
(b)
(c)
(d)
(e)
®
(g)
(h)

Why do the authors believe that science is neutral?
Who is a conjurer?

In which field Mr and Mrs John Active?

How are the class and caste different?

What is the setting and importance of king’s speech?
How is the school different from the boy’s home?
‘Ends justify means’-explain.

Why was the quickman fuzzled?

SECTION B

2.  Answer any FIVE out of Eight questions in about 25 words :

(a)
(b)
(c)
(d)
(e)
®
(8)
(h)

How are the five senses evoked in the poem, Ode to Autumn?
Describe the scene at Dover Beach.

What is the poet’s attitude towards the unknown citizen?
Explain how love could become fruitful in service.

Why does the poet compare word to a dove?

Why does the speaker ask the land lady to see his palm and sole?
When does ‘word’ become a lullaby?

Why does the poet refer to Sophocles and the Aegean sea?

SECTION C

3.  Answer any FIVE out of Eight questions in about 25 words :

(a)
(b)
(c)
(d)
(e)
®
(g
(h)

How does the quarrel between Malasha and Akoulya begin?
How does the author describe the movement of the river?
Describe the boy's curiosity to visit the river.

How does Portia react to Antonio’s letter?

Maximum : 80 marks

(5 x 2=10)
(5 x2=10)
(5x2=10)

What were the three options Philip had when he was attacking the enemy at the front?

How was Philip’s home coming?
What does Portia say about music?
Who are the frequent visitors to the river?



SECTION D

Read the following passage and answer the questions that follow. (bx1=5)

The problems associate with ageing are mainly to do with adapting to the physiological
changes, attitudes and responses to life around us. It has to be accepted that life is finite and
that old age is inevitable. Aging should be a positive experience in life and has to be
mastered. A positive attitude and a good health are the pre-requisites of aging with grace. If
these, maintaining one’s health is the basis of geriatric medicine. The word geriatrics is
derived from the Greek work gerios meaning ‘old age’ and iatros meaning medicine. It was
coined by an American doctor Nacher in 1914. The British geriatric society defines geriatrics
as that branch of general medicine concerned with the clinical, preventive, medical and social
aspects of illness in the elderly.

(a) What are the problems associated with aging related to?
(b) What are the prerequisites of aging with grace?

()  What is the basis of geriatric medicine?

(d) What is the origin of the word geriatrics?

(e) Who coined it and when?

Fill in the blanks with suitable verb forms in the passage below : Bx1=5)
Today I (wake) up at six and (study) for two hours. When Mohan (call) at my house, I (have)
my breakfast. After I (finish) my breakfast, I went out with him.
(a) Pick out a suitable synonym for the following words : (2x1=2)
(i) alley 7
(1) friend (2) lane (3) village
(11) ache

(1) wonder (2) pleasure (3) pain

(b) Pick out a suitable antonym for the following words : (2 1 =2)
(1) harsh
(1) gentle (2) hurt (3) reject
(ii) Lend

(1) sell (2) borrow (3) buy _
(¢)  Pick out the suitable one word substitute one who for the following line believes in god.
(Ix1=1)

(1)  theist (i1) atheist (iii) hedonist

Correct the underlined part in the following sentences. (6x1=25)
(a) He is more intelligent than me.
(b) He is suffering with fever.
(c) My friend is good in Mathematics.
(d) The sun rise in the east.
(e) The police has arrested the thief.
2 (1101 MC)



10.

11.

SECTION E

Transcribe the following words :

(a) believe (b) ribbon (¢ worthy

Choose the right transcription from the following options :

(a) echo

) ekau (i) ek> (i) 1k 2
(b) money

(i) wenl () wmani (i) wman
(c) sorry

(i) S=r () SOirer (i) SDF

Mark the tone for the sentences given below :

(a) Shut the door

(b) Please sit down !

(¢) © Where is your pen?
(d) That wasn't her idea.
(e) Satish is comming.

Mark the stress for the words given below :

(a) Sunday (b) Doctor (c) Engineer (d) November (e)

Look at the picture given below and write four sentences.

Democracy

(5)

(3)

4
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13.

14.

Read the dialogue given below and answer the questions given after it. _ (B3)

A Excuse me. Is there a shopping mall near by?

B Oh, yeah. There’s one on James street

A How do I get there?

B Well, at the first intersection tﬁrn left and you're in James street. The mall is the
fourth building to your left.

(a) Who are the speakers?

(b)  Where did the conversation take place?

(c) Where is the shopping mall?

(d) What is the conversation about?

(e) Write the tone of ‘How do I get there’?

Identify and transcfibe_ the sounds of the underlined letter in the words : (5)

(a) Shine

(b)  Chit

(¢) This

(d) Fate

(e) Bags

() Yes

(2) Hello

(h) Al

(i) OQOther

G -

Child

4 (1101 MC)




(1101 CC)
B.B.M. (Regular) DEGREE EXAMINATION, MARCH 2012.
(Examination at the end of First Year)

Part I — ENGLISH — I (GENERAL ENGLISH)

Time : Two hours Maximum : 50 marks .
SECTION A — (5 x 2 = 10 marks)

1.  Answer any FIVE out of Eight questions in about 25 words.
(a) In which ‘field’ were Mr and Mrs John active?
(b) How did the show end?
(¢) Give two instances regarding the discrimination of Blacks?
(d) Mention three mechanical devices used to avoid people.
(e) What are the three evils mentioned by Dr. Ambedkar?
(f) How can education help to destroy the caste system?
() What may be the effects of ‘comforts and conveniences’ on our lifestyle?

(h) “You won’t remember me or my name. Your have failed to many of us”. Identify these
lines and comment briefly.

SECTION B — (5 x 2 = 10 marks)

2. Answer any FIVE out of Eight questions in about 25 words.
(a) Write three sentences about Tagore.
(b) Why does the speaker think that he would have a wasted journey?
() What is the appearance of the world at present?
(d) What are the sounds associated with autumn?
() What does the unknown citizen’s Health — Card show?
()  When does the ‘word’ become a Iulléby?
(g) What does the “Greater community” mean?

(h) “Was he free”? Was he happy? The question is absurd’— Identify the passage and
comment briefly. ’

SECTION C — (5 x 2 = 10 marks)

3. Answer any FIVE out of Eight questions in about 25 words.
(a) Describe the location of the river.
(b) What does Portia say about music?
(¢) How does Philip tame Mrs Higgins?



(d)
(e)
®

(g)

(h)

Write a note on the silence experienced by the boy.

How does Tolstoy show that the little girls are wiser than men?

How does the author describe the time and setting of the story “Little Girls are Wiser

Than Men"?

Punctuate the following passage using capital letters wherever necessary:

Philip — Souvenir from France do you know uncle James that this revolver has killed

about twenty Germans.

Write a dialogue between the boy and the wood-cutter in ‘How Far is the River’.

SECTION D — (20 marks)

Read the following passage and answer the questions that follow:

(5 x1=5)

Men trap animals and birds for various reasons. There are zoos in many of the large cities of
the world and they are usually witting to pay high prices for wild animals and birds,
especially the rarer kinds. These, of course, must be caught and kept alive. Then there are
animals which are dangerous, some large, some small and they have to be destroyed. When it
is difficult to shoot them and kill them, it is possible to trap them. Other animals and birds
are the farmer’s enemies and can often be trapped easily than shoot or frightened away. But
probably most of traps that are set are intended to catch animals that have valuable skins.

(a)
(b)
(c)
(d)
(e)

Who buys rare kinds of wild birds and animals?
What is the main intension behind trapping animals?
Why are dangerous animals trapped?

Write the parts of speech of the word “Valuable”.

How many reasons are given in the passage for trapping animals?

Fill in the blanks with suitable verb forms:

(a)
(b)
(c)
(@
(e)
®
(2)
(h)
(@)
)

The train (leave) the platform an hour ago.
We (wait) till you are ready.

Water (boil) at 100°C.
. Don’t disturb the boy. He (do) his home work.
She (bid) us good bye.

I (read) the novel since morning.

Raju’s purse (steal) yesterday.

If she worked hard, she (pass).

Two and two (make) four.

It (rain) when I met them.

2

(10x L =5)
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6. (a) Pick out suitable synonyms for the following words: ' 2x1=2)

(i) Presto
(1) quick (2) fast
(3) petty (4) clear
(i) taciturn ' '
(1) quit (2) quiet
(3) disturb (4 dull
(b) Pick out suitable antonyms for the following words: 2x1=2)
(i) Vice
(1) wvirtue (2) wise
(3) vanity (4)  various
(1)) Guilty
(1) foolish (2) pleasant
(3) defeat (4) innocent
(¢) Pick out the suitable one word substitute for the following : (1x1=1)
One who understands many languages:
(i) Polygon (i) Politician
(ii1) Polyglot (iv) Plagiarist.
7. Correct the underlined part in the following sentences: (bx1=25)

(a) Last night [ went to bed lately.

(b) I differ from you on this issue.

(¢) No news are good news.
| (d) I may come by bus or by walk.

| (¢) They were sent out, isn't it?

3 (1101 CC)




(1103)
B.B.M. (Regular) DEGREE EXAMINATION, MARCH 2012.
(Examination at the end of First Year)

Part I - TELUGU - I (POETRY, NOVEL AND GRAMMAR)

Time : Three hours : Maximum : 100 marks

1.

50 208 2.8 STPE (38 SerY TETLO TS, (8)

(a)

(b)

(a)
(b)
(c)

(d)

(a)
(b)
(c)
(d)
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_CJ‘

&4 808 TOS° ‘@’ grifo 00d a¥ Trod ‘e gifo Muod a8 teR8 SErgrvo crood. (2 x 10 = 20)

(a)
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(a)
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(b)

54 808 TOS® wrevlH SIS E'Re0t0 SBAG D Erae) TPahod.

(a)
(b)
(©)
(d)
(e)
()
(8
(h)

(i) esdoTrHen.

(iv) R=dayen 263

(v) @oBIBA.

(vi) s

(vii) (Sggs0.

(viii) eShye.

Q0638 DT TSR0 TR DHIe 2 Bolod.
@) 9% derEswe.
(i) erod.

(i) HoBIE.

(v) Bob.

(V) oesegso.

(vi)  SorE sopenme.
(vii) S*%otgen.

(viii) Bosarsgomen.
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(4x2=28)
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(1104)
B.B.M. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of First Year)

Part I — HINDI — I (GENERAL HINDI)

Time : Three hours Maximum : 100 marks

1.

el i i ) de wied saTen it : (3 x 8 = 24)
(a) woqrfie 3t T e qand @ ai wiss @ @ wiiecd|” :

(b) “Trgaraar firr & s vl e 2, R fir firersma o wen =nfew fh st ferr

(© ‘%ﬁﬁﬁﬁm!mmaﬁ%@g&waﬁﬁi"

) et w6 S R ol e R R

(e) 'ﬁm%mﬁmﬁmmﬁﬁwmﬁ%ﬁﬁ%mﬁémﬁm&l”

fapeft ook 1@ o1 ERi feraeRt Saeh! ferdand s (1 x 16 = 16)
(a) T

(b) HEHTa S afe 1 TR EEy

() @RI

(d) u=.omE. . /EH]

et wer et o1 amw frfe , (1x12=12)
(a) TREHTE

(b) @ TE&AA

(¢) HeErmE

ot U W o1 g I AT (1x8=8)
(a) Hﬁm’mﬁﬁ@nﬂwaﬁaﬁwﬁﬁm

(b) e T werdt i s % i 1 e b R g

()  “TRHTEHT oh T AT o1 IGv T hfoI|

(a) g1 % FTER A&TerC (5 x 1=15)
() &9 e Ifral %@%%l@ﬁwﬁaﬁﬁaﬁwﬂﬁmﬁm
(ii) Wﬁ@'m%lﬁ@mwm%nmmﬁaﬁﬁﬁm
(iii) @ﬁ%w%ld@ﬁ%ﬂmmmwmm%m
(v) TH 3 TEv ) AR (@ SR e
(v) et o (e R




(b)

()

(d)

ﬁmﬁé%ﬁ_eﬁma@ﬁmm|
(1) ST T '

(i) S HET

(iii) s S

(iv) s

(v) "l

(vi) e

(vil) Y-Yesieh
(viii) T
(ix) 3T
(x) HEEW |

PR et Tt 8 & el w1 ot e i Bfn)

(i) Absence

(i) Accommodation
(iii) Bonafide

(iv) Due date

(v) Director

(vi) Auditor

. (vi1)) Translator

(viii) Governor
(ix) Forest officer

(x) In charger.

Fraforfas wemafer wisat # & foheel] = =1 srgae siish # hifvg)

) il
(i) T
(i) s gfd
(iv) YgIHUF
(v) @R
(vi) WeTEHR
(vii) g |
(viii) SHTeTEaE|

(6x1=5H)

(5 x2=10)

(4x1=4)
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(a)
(b)
()

(a)

(b)
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foreft verdt o o st v foafa

(1x8=28)

mﬁnﬁﬁﬂwﬁgﬁwﬁ%aﬁﬁﬁmmﬁg&mﬁw%waﬁmﬁ%m RIS ANEIRCRE

fofau)

i am wreel 1 wfyr-faesie #ifs)
() uHH

(i) T

(iii) =TT

(v) faEm

(v) Scgusi

(vi) ®ed

(vii) HeWl

(viii) femrst|

foreet = vrea] & foreim w9 farfam)
() g

(i) @l

(i) A

(iv) T

(v) T

(vi) HIEA

(vii) AU
(viii) el ]

(4x1=4)

(4x1=4)
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(1105)
B.B.M. DEGREE EXAMINATIONS, MARCH 2012.
(Regular)
(Examination at the end of First Year)

Part I — SANSKRIT - I (POETRY, PROSE AND GRAMMAR)

Time : Three hours ; _ Maximum : 100 marks

1

B

240 guTaTH foEal (2 x 15 = 30)
Answer any TWO of the following.

(a) o sfe urew R fera)
Write the summary of the lesson ‘Saranaghathi’.
(b) FEEHETA: JuT forEd |
Write the episode of Ruru and pramadvara.
() e sitard 3t wrew awi fereal
Write the summary of the lesson Raghoh owaryam.
(@) R s avi|
Write the greatness of motherlands.
(a) TRCvamETaTRAl: FETYl fored|
Write the conversation between laghupatflanaka and Hiranyaka.
, (1x 10 = 10)
HYET
(b) T wuf foedl
Write the story of Squire.
HeaTit arernf wEey e |
Answer any FOUR of the following with reference to context. (4 x 5=20)
(a) weo fafErif Svam it 71
(b) hieH: TR SAg RIS |
(c) ATHCHIETE TATEa: |
(d) 3 AEEIa|
(e) wvae = Tyt = weaTHHEIdl|
(f TR I T T el
(g) ST WINTY T A& |
(h) F=ad S SieTiy: Fd wTeTay Hed o fshledad |



4.

5.

(a)

(b)

(a)

(b)

Teh YelTeh AFYHTIIIT o1 TGN 3 3gasd |
Translate any ONE stanza in Telugu or English.

()  TE A e T TaRETE: |

mﬁmﬁwﬂwsﬁga:l
(i) I g g oy eesfaaed)

FFEEHI = FAYT % J 3w 90

ST ST TSI a1 3Tagd |
Translate into Telugu or English.

1x4=4)

(1x4=4)

() ot ot i Rooae! GeawmTeT Wedl # SqETaR ada” | aq gen fewasisi et

g-rars | <ot ot o ? e are: ? & o ? figs o eAasE

i) Fusre! s gBIsfay o daam) ATEETYd o) 9 gofts) 3fd) @a: e s sE)

3! u=iisfar afe wefiegdauey w e wergEEEd FERM)

gquit aafgafey seewor forad|

Write other forms to any FOUR in the given case.

(i) <=
(i) =
(ii) &M
(iv) B
v) T
(vi) W
(vii) @i
(viii) Tt

ERIMIEE Get kRS s A

Write other forms for any THREE.

(i) TSt
@) eI

(i) gea

Gv) foa:
(v) HdR|
(vi) =)

(4x2=8)

(B3x2=6)
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(c)

(d)

(e

Ty TeaTi wwyd |

Combine any FOUR and mention the name of the Sandhi.
() wer+ Ak

(i) T+ 1

(i) HET + IeEa:

(iv) f&=a + sftuy

(v) dq+9

(vi) G+

(vii) 9T + HIH |

(viii) fima: + s1@H)

quTEAM e Tdeh T famgarant forad|

Give the Vigrahavakyas and for the names of any THREE compounds.

@) FgmlEd

(i) ofmrfR

(iii) STHIEH:

(iv) IFFLETH

(v) AU

(vi) haThaH|

gt fore s = yegfisa |

Identify the gender and number for any two.
(i)  fasfiwon qaor s |

(i)  THEN FEHEN: Uel|

(4x2=8)

(83x2=6)

(2x2=4)
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(1107)

B.B.M. (Regular) DEGREE EXAMINATION, MARCH 2012.

(Examination at the end of First Year)
PART I - URDU I - (PROSE AND POETRY)
Time : Three hours Maximum : 100 marks

SECTION A — (4 x 15 = 60 marks)

Answer ALL the questions.
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SECTION B — (4 x 5 = 20 marks)

Answer any FOUR questions
_ug_,#f:,gméu)végf:_&isgw

STt AL bty o

_ZE eI AL A sty

. o) DA AN I
Lt A o Tu-c s LAt et Lo s 51
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SECTION C - (10 x 2 = 20 marks)
Answer ALL the questions.
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(1136)

B.B.M. (Regular) DEGREE EXAMINATION, MARCH 2012.

(Examination at the end of First Year)

Part I — INTRODUCTION TO COMPUTERS

Time : Three hours

(b)

(c)

(e)

®

()

(h)

@)

@

SECTION A — (10 x 2 = 20 marks)

Answer ALL the following questions.

Define computers.

Computer edmaddo?

Define an information.

Information ensmaa0?

What is memory?

Memory 08 220637

Define operating system.

Operating system 2 9580%0d.

What is meant by modem?

Modem esdreR20?

What are all the uses of database management system?
Database management system @&, a3@3rmed @rabod.
What is meant by compiler?

Compiler edmd20?

What is the role of qlip art?

Clip &%), role 220637

What is meant by template?

Template edmroa?

Deﬁne view‘ in power point.

Power point &° view K809 2580d08.

Maximum : 100 marks



o

(a)

(b)

(c)

(d)

(a)

(b)

(©

(d)

(a)

(b)

SECTION B — (5 x 16 = 80 marks)

Answer ALL the following questions.

Explain the block diagram of a computer.

Computer &r§ COST (D00 A% oS0 298 errey 95980908,

Define computer. Explain its characteristics.

Computer edmaa? Computer &), 29¢ characteristics d DH58ovodk.
Or

Discuss in brief about software and hardware.

Software 508050 hardware o 809 &reooHdorr 298odok.

Discuss about various types of memorys.

29 B%500 memorys O 080D 95800k,

Define network and explain its common types.

Network essmaa? 99¢ s8sme Networks 0 800 9580b0é.

Explain in detail about network topologies and protocols.
Network topologies'and protocols ® KBod HDSBore HHBoBOE.

Or

Discuss the steps involved in planning a computer program and how programs solve
the problem. —

Computer program  plan 3% agrarR) 28diw problem & 5 9¢ore programs S ) Eore

solve D2 994 steps & ddBovok.

Explain about compilers, Assemblers and Interpreters.

Compilers, Assemblers %08dtw Interpreters $80d D580w0s.

Explain about databases and database management systems with example.

Database $8a% database management system /0809 amirtees’ 95800&.

Define language. Explain different types of languages.

Language e08 20e3? 294 85500 languages /802 2580%od&.

Or

2- (1136)



(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

()

(d)

Explain system development life cycle.

System development life cycle 809 9580wod.

Explain key factor’s for successful programming.

Successful programming 8§ sordR% S0esP SBeroo ddBoBdos.

Explain about mail merge.
Mail merge o K809 dH580wWod.
Define Header and Footer. Explain the procedure for creating header and footer.

Header and Footer 258050&. Header and Footer Create 3% ogrrrg) 258008,

Or
Define macro. Explain record, editing and running a macro.
Macro © 9580%0&. Record, editing and running a macro 93580%0é.
What is the role of table in MS-Word? Explain various features of a table.
MS-Word &° table G, 2% d2063? Table o), @Swasesd 2580B0s.

How to prepare a presentation using design template?
Design template ® é5@3rRod presentation & H5rS B dgearR) H5Bovod.

How to prepare a presentation using auto content - wizard?

Auto content - wizard ® 4583 Rod presentation © 055 B JTRRY 2:580908.

Or
Explain different types of views in power point.
Power point &° 22 &sce views 2 958006,
Explain how animation effects applied on object.

Animation effects & object H0& SBrRoD dErarRY dHBoBOG.
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10.

1677

12.

13.

14.

15.

16.

Values and customs.
Devden B esTTeD.
Service sector.

Ve Sokfo.

Income in equalities.
&agg 29DTTHDBHED.
Inflation.

BSS sepee0.

Coalition politics.

vo8g oesdasren.
Sardar Vallabhai Patel.
ob Segrod SE3.
Globalization.
RonEsea.

Problems are aged people.

:)q)dséw }6:5.)55@0.

(1140)

(1140)

B.B.M. DEGREE EXAMINATION,
MARCH 2012.

(Regular)
(Examination at the end of First Year)

Part I — CONTEMPORARY INDIA : ECONOMY,
- POLITY AND SOCIETY (Foundation Course)

" Time : Three hours Maximum : 100 marks

SECTION A — (4 x 15 = 60 marks)
Answer FOUR of the following.
Each question carries 15 marks.

1. (a) “Agriculture is the backbone of Indian
Economy”. Discuss.

“prith eagé ‘:aeségéa Sgdaraioo DD Hoe38”

- 2HBoWodk.
Or
(b) Explain the main features of Indian's
population.

e SBDE e OEETORD DT7),R0R.



(a)

(b)

(a)

(b)

Trace the important events of the freedom
struggle during the Gandhian Era
(1920 - 1947).

PABIEFEOB0D ol DMK  wBRM
(523008 5043500050 FGoHIo.

Or

Discuss the salient features of the Indian
constitution.

grseh 0‘8330?\' DT ©Fero0 Segydw.
Define Human rights. Describe its origin and

growth. Explain how they are enforced in
India.

DR TPEO R0 D50 oD RS, LPRHED
D980, FrEEBFS” ©I Jor eKHBNS’
JBA0HH.

Or
Describe the main features of Indian Society.
FROAAh  Ddoresdn G, 209y OFETOR
DB,

2 (1140)

(a)

(b)

What is meant by domestic violence?
Describe the salient features of the
protection of women from Domestic Violence
Act of 2005.

HTrod  edr Ad? TR0 B0
FITDRadD 2005 NI HFoDd wod
385K $306% SwaroTeR LD,

Or

What are the problems of child labour, and
how to prevent them?

20 svs&g A Ko sSerorn Bf), oo
DETROIL (HE0OBIORE"Y D500 BBoHHW.
SECTION B — (8 x 5 = 40 marks)

Answer any EIGHT of the following questions.

Each question carries 5 marks.

Small Scale Industries.
DY) BES® SBEdoen.

Poverty. -
2e58%o0.

" Telugu Desam Party (TDP).
B Bio ﬁvé

Right to Information Act.
QDTS K, De0.
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(1401) 7. What is meant by monopoly? What are the
‘ features it? Explain the equilibrium of the firm

under monopoly.
B.B.M. DEGREE EXAMINATION, MARCH 2012.

8.  Explain the features and determination of

(Regular) equilibrium output and price of firm under
(Examination at the end of First Year) monopolistic competition.
Part 11 — MICRO ECONOMICS 9.  Critically examine the Marginal productivity
: theory of distribution.
Time : Three hours Maximum : 100 marks

» 10. Explain the following:
Agemerpey [VEIgtoT (a) Types of elasticity
(b) Returns to scale

(¢) Selling costs.

All questions carry equal marks.
(5 x 20 = 100)

1.  Define and distinguish between Micro economics
~and Macro Economics.

2.  Explain the law of diminishing marginal utility
with suitable diagram.

3.  Discuss the consumer equilibrium with the help of
indifference curve analysis.

4. . Explain the law of demand and exceptions it.

ot

Explain the internal economies and external
economies.

6. What are the characteristics features of perfect
competition and how is price determined under
perfect competitive market?

2 (1401)



9. (a) A firm proposes to purchase some fans and (1402)
sewing machines. It has only Rs.5760 to - =y AR
invest and space for at most 20 items. A fan B.B.M. DEGREE EXAMINATION, MARCH 2012.
costs Rs.360 and a sewing machine Rs. 240. (Regular)

Profit expected from a fan is Rs. 22 and a
sewing machine is Rs. 18. Using graphic
method of solution, determine the number of Part 11 — BUSINESS MATHEMATICS

" fans and sewing machines he should ‘
purchase to maximise his profit.  Also ,
ascertain the maximum possible profit he Answer any FIVE questions.
can earn.

(Examination at the end of First Year)

Time : Three hours Maximum : 100 marks

1. (a) What is decision making? Explain decision

(b) Define the term Linear Programming. malkirie process

Explain briefly how a business enterprise

can apply the technique for various purposes. - (b) Explain advantages and disadvantages of
: . computers in decision making.

1

e
s lerhd STRGESE - EW: B

Ot in e next 3 terms
L2

= o=
as)

(b) Solve the equation 6x*-x-2=0
() If n,, =45 find the value of “n”

(dy Write down the expansion of (3x—% y)* by

the binomial theorem.

3. () If A={23456},B= {4,5,6,7,8}and C=1{5,61},
show that (AUB)UC =AU (BUC)

(b) Evaluate the [ ¢ (x2 +2x + 5).

x>0
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(c)
4 (a)
(b)
5 (a)
(b)

If fx)=x+2; gx)=2x+3;
Vx e R find

(i)  (fog)oh
() fo(goh).

h(x)=3x+4;

Define Linear Dependency or Independency
on a finite set of Vectors. Verify whether the

set of vectors(i+ 2} +3k), (2i + 3} +k) and.

(3€+}+2k) is linearly dependent or linearly

independent.
[-5 =2 1 :
If A=] 4 3 3 | find the matrix B such
6 6 -2

that A + B = Unit Matrix.

Find the adjoint of the matrix A.

A=

Qv o
N =R

1
4
1

Solve the following equations by matrix
inverse method.

2x, +5x, =11
4x, ~3x, =9
2 (1402)

_--'I

_ (a)

(b)

(a)

()

Differentiate the following functions with
respect to ‘x’.

@ &*5"

G (20-3)(dx-5)

Find the minima and maxima of the
following function :

yzgx3+-]-"—x2—6x+8
3 2

Find B if x®-xy?+3y*+2=0
dx '

Find, the slope if the tangent to the curve
x% + xy+y® =4 at the point (2,-2)
Also, find the angle of the slope.

Evaluate the following :

(a) j5x3dx

(b)

(c)

F;- dx

J.\/xz +x+1dx

2
() I4x?dx‘
1

g (1402)



(1403)

B.B.M. (Regular) DEGREE EXAMINATION, MARCH 2012.
(Examination at the end of First Year)
Part II — FINANCIAL ACCOUNTING

Time : Three hours ; Maximum : 100 marks
Answer any FIVE questions. |
All questions carry equal marks.
1 Explain the advantages and limitations of accounting.

7.9 Wha} do you mean by trial balance? Discuss the main objects, limitations and methods of
preparing a trial balance. '

3. Explain various reasons for preparation of bank reconciliation statement.
4. What is a realization account? How does it differ from revaluation account?

What do you mean by accommodation bills? What are the differences between trade bills and
accommodation bills?

(o1}

6. Enter the following transactions in three colﬁmnar cash book :
2004 Rs.
Dec1l Cashin hand 14,000

Balance at bank 10,000

3 Cash sales ' 6,000

5 Paid into bank " 7,000

7 Received a cheque from Suresh 2,000

9 Paid into bank Suresh’s cheque 2,000
10 Paid to Amar by cheque Rs. 980

in full settlement of his account 1,000

11 Withdrew from bank for office use 5,000

12 Goods purchased from Naveen 3,000

14 Received a cheque from John for Rs. 10,000
and paid into bank on the same day
17 Paid commission to Raman 500
18 John cheque was dishonored
20 Draw a cheque for Rs. 800 for personal use
24 Paid salaries 2,000



From the following trial balance of Swaroop, prepare trading and profit and loss account for
the year ended 31* March, 2003 and Balance sheet as on that date. '

Debit balances Rs. Credit balances Rs.
Stock 45,000 Capital 75,000
Plant and Machinery 75,000 Sales 4,20,750
Purchases 2,25,000 Sundry Creditors 15,000
Trade expenses . 10,000 Bad debts provision 200
Carriage inwards 2,500 Bills payable 2,000
Carriage ogtwards 1,500
Factory rent 1,500
Discount 350
Insurance 700
Sundry debtors 60,000
Office rent 3,000
Stationary 600
Salaries 17,800
Advertising 15,000
Bills receivable 6,000
Drawings 6,000
Wages 20,000
Furniture 7,500
Coal & Gas 1,000
Cash in hand 2,000
Cash at Bank 12,500

5,12,950 ~ 5,12,950
Adjustments :

(a) Closing Stock amounted to Rs. 35,000.
(b) Depreciate machinery by 10% and furniture By 5%.
(c) Raise the Bad debts provision to 5% on debtors.
(d) Outstanding factory rent Rs. 300 and ofﬁﬁe rent Rs. 600.
(e) Insurance prepaid Rs. 100.
2 (1403)



10.

A company whose accounting year is calendar year purchased on 1.4.2003 Machinery costing
Rs. 60,000. :

It further purchased machinery on 1* October, 2003 costing Rs. 40,000 and on 1% July, 2004
costing Rs. 20,000. .

On 1.1.2005 one third machinery which was installed on 1.4.2003 became obsolute and was
sold for Rs. 6,000.

Show how machinery account wood appears in the books of the company. The depreciation be
charged at 10% on written down value method.

A, B and C sharing pfoﬁts and losses equally, had been trading for many years. C decided to

retire on 31% December, 2008 on which data Balance sheet of the firm was as follows :

Liabilities Rs. Assets Rs.
Capital Accounts : Cash 30,000
A 1,00,000 Debtors : 60,000
B 80,000 Stock 50,000
(® 60,000 Plant and Machinery 1,00,000
Creditors 80,000 Land and Buildings 80,000
3,20,000 '3,20,000

The value of the goodwill was agreed as Rs. 81,000. The land and Buildings had increase in
value, the value be agreed at Rs. 1,10,000, Plant and Machinery was revalued at Rs. 88,000
and it was also agreed to provide 5% in respect of debtors.

Prepare Memorandum revolution account, Capital accounts and Balance sheet.

A limited company has an authorized capital of Rs. 2,50,000 in Rs. 10 shares. Of this 4,000
shares were issued as fully paid in payment of building purchase and 8,000 shares were
subscribed for by the public, and during the first year Rs. 5 per share was called payable
Rs. 2 on application, Rs. 1 on allotment, Rs. 1 on first call and Rs. 1 on second call. The

amounts received in respect of these shares were as follows :

On 6,000 shares the full amount called. On 500 shares Rs. 3 per share.
On 1,250 shares Rs. 4 per share. On 250 shares Rs. 2 per share.

The directors forfeited the share on which less then Rs. 4 had been paid.

You are required to show journal entries in the books of the company, and to set out the
capital as it should appear in the company’s balance sheet at the end of the first year.

3 | (1403)



Time : Three hours

o

(1404)
B.B.M. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of First Year)
Part II — PRINCIPLES OF MANAGEMENT

Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.
(5 x 20 = 100)

Define management. Explain briefly managerial
functions. '

-Critica]ly examine the classical approach of
management thought. '

“Management is the art of getting things done
through people”. Discuss.

What is planning? Explain the significance and
process.

Distinguish between delegation and

decentralization.

Explain importance of good communication in
management. '

Describe line-staff organization. Explain its merits
and demerits.

10.

Explain the various steps involved in the process
of control. '

Explain merits and demerits “of functional
deportment along with a diagram.

Define leadership and explain merits and demerits
of different leadership styles.

5 (1404)



(1405) 6.  What is learning? What are the main theories of
learning?

B.B.M. DEGREE EXAMINATION, MARCH 2012. 7. Classify groups and explain the process of group
(Regulds) : formation.

(Examination at the end of First Year) 8..  What are group decision making techniques? How

: they help in making a group decision making

e s Terenones Maximum : 100 marks 9.  What are various advantages and disadvantages

Answer any FIVE questions of monetary and non monetary incentives used to
; motivate the employees?

All questions carry equal marks. 2
10. What do you mean by group dynamics? How they

1. Explain the scope and importance of behavioural make group performance effective?
sciences in managing the organizations

2.  Bring out the several types of people. How does
Mc Gregor’s theory has its impact on the nature of
the people.

3. What is personality? What are the major
personality attributes influencing behavioural
sciences? -

4.  Explain the difference between perceptions and
attitudes. How are they formed and how they
affect the growth of organisation?

5.  Define Motivation. Explain the different types of
motivations and motives.

2 (1405)



